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(1). ISDN % #+43 110/119 & ¢ < = [SDN CPE

UI_ID ANI Call_Class User_ID ALI
1 byte 10 bytes 1 byte 100 bytes (100 bytes
Char Char Array | Char (S: # 3%, |Char Array |Char Array
P: oz M 78,
R : Pager)

L FRER S B2 - 2iF \0 char
2. % % % F 11 BIG 5 45 %%

#r3 ALL 4p M T4t & 211 bytes > # = =t % Ul Message @i% » % - =xi% 112
bytes(# 45 UL_ID=1, ANI, Call-Class £ User_ ID & w B =F#) » % = =xi% 101
bytes(# 45 UL_ID=2, ALI % = @ =F#L) -

(2). 1107119 # ¢ == [SDN CPE = ISDN =% #% %

UI_ID ALI_ACK
1 byte 1 byte

3= ALI_Ack = 1 OK; =0 Failed
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Test Group: ANI/ALI

Test Id: UI_1

Test Purpose: Ensure that on receipt of a UI(UI_ID=1) message the IUT responds
with UICACK UI_ID=1) and remains in Ul0 state

Tester Rl AR IUT

SETUP [CR, BC(Speech), Calling NO., Called NO.]

Active state

[ Voice on  B-channel ]

UI[UUUT’UL ID=1+ANI+Call Class+User ID™)]
/¥ 1st Ul=msg, UU=LE., 2nd Ul=component, Ul ID=1,7 112 bytes */
/*ANI=34244378 » Call Class=S » User ID=ISDN CPE {* & tip]3& ¢
(left justified with \O” as filler)*/

UI [UUUI'ULID=1+ALI ACK )] ~ /* UL_ID=1, ALI ACK #/
/* Tester Verify UL ID=1 and ALI ACK=1 */

BRA : /* Verify : Tester 8 [UT WVEE{y ol 464 EsE */
PRA * STATUS ENQ [CRID]

/* Tester Verify Call State = U10 */
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Test Group: ANI/ALI

Test Id: UI_2

Test Purpose: Ensure that on receipt of a retransmitted UI(UI_ID=1) message
the IUT responds with UICACK UI_ID=1) and remains in U10

state
. 20 &

Tester RIFB AR [UT
SETUP [CR, BC(Speech), Calling NO., Called NO.]
......................................................................................................................................................................................... >
CALL PROC [CR. B-Ch 1
4 .........................................................................................................................................................................................
ALERT [CR 1 - Ontional
4 .........................................................................................................................................................................................
CONN [CR]

4 .........................................................................................................................................................................................
Active state
[ Voice on  B-channel ]
UI[UUUT’UL ID=1+ANI+Call_Class+User ID™)]
/* 1st Ul=msg, UU=LE., 2nd Ul=component, Ul ID=1,7 112 bytes */
/*ANI=34244378 » Call Class=S » User ID=ISDN CPE {* & {4ip[zE ¢
....... (left justified with O a8 SUCD™ s
UI [UUUT’UL ID=1+ALI ACK )]  /*UI ID=1, ALI ACK */
< .........................................................................................................................................................................................
UI[UUUT’UL ID=1+ANI+Call Class+User ID™)]

/* Retransmit Ul ID=1 message */
......................................................................................................................................................................................... >
UI [UUUT’UL ID=1+ALI ACK “)]  /* UL ID=1, ALI ACK */
< .........................................................................................................................................................................................
BRA : /* Verify ¢ Tester 82 IUT % § 137 3@ 32 */

PRA * STATUS_ENQ [CR] o
o SEATUS [CA=30, 97, CS=U10 (Active State)]
/* Tester Verify Call State = U10 */
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Test Group: ANI/ALI

Test Id: UI_3
Test Purpose: Ensure that on receipt of a UI(UI_ID=2) message the IUT
responds with UI(ACK UI_ID=2), remains in Ul0 state and Displays all
the provided information

Tester ) IUT

SETUP [CR, BC(Speech), Calling NO., Called NO.]

Active state

[ Voice on  B-channel ]

UI[UUUT’UL ID=1+ANI+Call_Class+User ID™)]
/* 1st Ul=msg, UU=LE., 2nd Ul=component, Ul ID=1,7 112 bytes */
/*ANI=34244378 » Call_Class=S » User_ID=ISDN CPE # & {2ipl3# ¢
(left justified with 0" as filler)*/

UI [UUUT’UL ID=2+ALI")]
/* After receiving Ul ID=1 ACK, Sending UI ID=2 ¥ 100 bytes ALI */

FALI= P #R BRF L @ R Y s ak(left justified with \0” as ﬁller)*>

UI [UUUI"UI_ID=2+ALI ACK “)] /* UI_ID=2, ALI ACK */
/* Tester Verify UL ID=2 and ALI ACK=1 */
BRA : /* Verify ¢ Tester 82 IUT % § 137 3@ 32 */
PRA : STATUS_ENQ [CR]

/* Tester Verify Call State = U10 */
/* Operator find all provided information on the screen of IUT */
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1. Layer 1 Conformance Test

Test Suite: CHT-96-BA-L1 Verdicts Assigned
PASS: 06
FAIL: 0
INCONC: 0
Selected Cases: 06
Test Identifier ITU-T REC. I.430 Verdict

Test Group: Basic Interconnection Test

3. Basic Interconnection Test —(31p) PASS
Test Group: Binary Organization of Frame

4.1.1 TEST A 5.4.2.1 PASS
4.1.2 TEST B 6. 2.2 PASS

Test Group: Electrical Characteristics Test
6. 8.2 Receiver Sensitivity 8.6.2.1 PASS

Test Group: Power Feeding

7.1.1.1  NORMAL POWER PROVISION--TEST A 9.3.1. 1 PASS
7.1.2.1  RESTRICTED POWER PROVISION--TEST A  9.3.2.1 PASS
T A RAHEE
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2. Layer 2 Conformance Test

Test Suite:
PASS: 63
FAIL: 0
INCONC: 0

CHT-96-BA-L2

Selected Cases: 63

Test Identifier

Test Group:
DM70_V01
DM70_V02
DM70_V05
DM70_V06
DM70_VI1
DM70_V12
DM70_V13
DM70_V14

Test Group:
DM80_V01
DM80_V02
DM80_V05
DM80_V06
DM80_V11
DM80_V12
DM80_V13
DM80_V14

Test Group:
DST70_V01

Test Group:
DL70_V08
DL70_V10
DL70_V12
DL70_V13
DL70_V14

DM70_V State 7.0 Valid Frms
ID-Assigned : Ai Duplicated
ID-Assigned : Ai Non Matching
ID-Chk-Request : Ai Match
ID-Chk-Request : A1=127
ID-Remove : Ai=127

[D-Remove : Ai Match

UA/F=1

UA/F=0

DM80_V State 8.0 Valid Frms

[D-Assigned : A1 Duplicated
ID-Assigned : Ai Non Matching
ID-Chk-Request : Ai Match
ID-Chk-Request : Ai=127
ID-Remove : Ai=127

[D-Remove : Ai Match

UA/F=1

UA/F=0

DS70_V State 7.0 Valid Frms
Window Rotation

DL70_V State 7.0 Valid Frms
SABME/P=1

SABME/P=0

DISC/P=1

DISC/P=0

DM/F=0

16
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— @ 2 o o
DO

ITU-T REC. Q.921

Verdicts Assigned

3 =3 B~ ™ W W DN DD

3 =3 B~ B W W DN DD

ISDN 6100 (IS 6100)
TR p# 109&7 0 1R

Verdict

PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS

PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS

PASS

PASS
PASS
PASS
PASS
PASS
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DL70_V16 DM/F=1 5.8.7 PASS
DL70_V17 FRMR : Reject RR 5. 7.1 PASS
DL70_V20 RR/P=1 : N(R)=V(S) 5.6.5 PASS
DL70_V21 RR/P=0 : N(R)=V(S) 5.6.5 PASS
DL70_V23 RR/F=0 : N(R)=V(S) 5.6.5 PASS
DL70_V30 REJ/P=1 : N(R)=V(S) 5.6.4 PASS
DL70_V31 REJ/P=0 : N(R)=V(S) 5.6.4 PASS
DL70_V32 REJ/F=0 : N(R)=V(S) 5.8.7 PASS
DL70_V36 RNR/P=1 : N(R)=V(S) 5.6.5 PASS
DL70_V37 RNR/P=0 : N(R)=V(S) 5.6.5 PASS
DL70_V39 RNR/F=0 : N(R)=V(S) 5.6.5 PASS
DL70_V44 1/P=1 : N(S)=V(R), N(R)=V(S) 5.6.2.1  PASS
DL70_V45 1/P=0 : N(S)=V(R), N(R)=V(S) 5.6.2.2  PASS
DL70_V46 1/P=1 : N(S)V(R), NR)=V(S) 5.8.1 PASS
DL70_V47 1/P=0 : N(S)OV(R), NR)=V(S) 5.8.1 PASS
DL70_V57 T203 Timeout 5.10.3.3 PASS
Test Group: DL80_V State 8.0 Valid Frms
DL80_V08 SABME/P=1 5.5.2 PASS
DL80_V10 SABME/P=0 5.5.2 PASS
DL80_V12 DISC/P=1 5.5.3.2  PASS
DL80_V13 DISC/P=0 5.5.3.2  PASS
DL80_V14 DM/F=1 5.7.1 PASS
DL80_V15 DM/F=0 5.7.1 PASS
DL80_V17 FRMR : Reject RR 5.7.1 PASS
DL80_V20 RR/P=1 : V(A)<=N(R)<=V(S) 5.6.5 PASS
DL80_V21 RR/P=0 : V(A)<=N(R)<=V(S) 5.6.5 PASS
DL80_V22 RR/F=1 : V(A)<=N(R)<=V(S) 5.6.5 PASS
DL80_V23 RR/F=0 : V(A)<=N(R)<=V(S) 5.6.5 PASS
DL80_V24 REJ/P=1 : V(A)<=N(R)<=V(S) 5.6.4 PASS
DL80_V25 REJ/P=0 : V(A)<=N(R)<=V(S) 5.6.4 PASS
DL80_V26 REJ/F=1 : V(A)<=N(R)<=V(S) 5.6.4 PASS
DL80_V27 REJ/F=0 : V(A)<=N(R)<=V(S) 5.6.4 PASS
DL80_V28 RNR/P=1 : V(A)<=N(R)<=V(S) 5.6.5 PASS
DL80_V29 RNR/P=0 : V(A)<=N(R)<=V(S) 5.6.5 PASS
DL80_V30 RNR/F=1 : V(A)<=N(R)<=V(S) 5.6.5 PASS
DL80_V31 RNR/F=0 : V(A)<=N(R)<=V(S) 9.6.5 PASS
DL80_V32 1/P=1 : N(S)=V(R), N(R)=V(S) 5.6.2.1  PASS
DL80_V33 1/P=0 : N(S)=V(R), N(R)=V(S) 5.6.2.2 PASS
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DL80_V34 I/P=1 : N(S)V(R), N(R)=V(S) 5.8.1 PASS
DL80_V35 I/P=0 : N(S)V(R), N(R)=V(S) 5.8.1 PASS
DL80_V44 T200 Timeout, RC=N200 2.6.7 PASS
DL80_V46 T200 Timeout, RC<N200, V(A)=V(S) 2.6.7 PASS

3. Layer 3 Conformance Test Summary Report

Test Suite: CHT-96-BA-L3 Verdicts Assigned
PASS: 57

FAIL: 0

INCONC: 0

Selected Cases: 57

Test Identifier ITU-T REC. Q.931 Verdict

Test Group: Basic Interconnection Tests

1. Incoming Call (#21003) 5.3.3 PASS
2. Outgoing Call (#11105) 5.3.4 PASS
3. Outgoing Call (#11106) ( A law call) 5.3.4 PASS
4. Outgoing Call (#11107) ( U law call) 5.3.4 PASS
Test Group: U0 TESTS
#10001: [RC2(1,16), NO_MSG] 5.8.3 PASS
#10002: [RL3(1,16), RC_81] 5.8.3.2b) PASS
#10005: [SU3(BC, CD#, LLC, HLC), AL+CN+CP] 5.2.4 PASS
#10006: [SU2(SCI, BC, CD#, LLC, HLC), AL+CN+CP] 5.2.5 PASS
#10007: [SUB(BC, LLC, HLC), AL+CN+CP] 5.2.6 PASS
#10008: [SU4(IBCAP, LLC, HLC), RC_88+NO_MSG] 5.2.2 PASS
#20002: [<IUT!SETUP>, SU] 5.1.3 PASS
Test Group: Ul TESTS
#10101: [CP2, NO_MSG, U3] 5.1.5.1  PASS
#10102: [RC2(1,16), NO_MSG, U0] 5.8.4 PASS
#10103: [RL3(1,16), RC] 5.3.2 PASS
$10106: [SQ2, ST] 5.8.10 PASS
Test Group: U3 TESTS
#10301: [AL2, NO_MSG, U4] 5.1.7 PASS
#10302: [CN2, ST(97,8,101)+SQ+CA+NO_MSG] 5.1.8 PASS
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#10303:
#10304:
#10305:
#10306:
#10307:
#10308:
#20301:
Test Group:
#10401:
£10402:
#10403:
£10404:
£10405:
#10406:
£#10407:
£20401:
Test Group:
#10801:
£10802:
#10803:
£10804:
#10805:
#10806:
£20801:
Test Group:
£#11001:
£#11002:
#11003:
£#11004:
£#11005:
#11006:
#21003:
Test Group:
#11101:
#11102:
#11103:
3#11104:
#11105:

[DI2(1,16), RL]
[IN2(1), NO_MSG]

[PG2, NO_MSG]

[RC2(1, 16), NO_MSG, UO]
[RL3(1, 16), RC]

[SQ2, ST]

[<IUT!DISC>, DI_16]

U4 TESTS

CN2, CA+NO_MSG]
DI2(1,16), RL]

IN2(1), NO_MSG]

PG2, NO_MSG|ST]

RC2(1, 16), NO_MSG, UO0]
RL3(1, 16), RC]

SQ2, ST]

<IUT!DISC>, DI_16]

U8 TESTS

[CA2, NO_MSG, U10]
[DI2(0, 16), RL]
[IN2C0), NO_MSG]
[RC2(0, 16), NO_MSG, UO]
[

[

[

— o o o o o

RL3(0, 16), RC]

SQ2, ST]

T313(4S) TIMEOUT, DI]
U10 TESTS

[DI2(0, 16), RL]
[IN2(0), NO_MSG]
[NO2(0), NO_MSG]
[RC2(0, 16), NO_MSG, UO]
[RL3(0, 16), RC]

[SQ2, ST]

[<IUT!DISC>, DI_16]

U11 TESTS

[DI2(1,16), RL]
[IN2(1), NO_MSG]
[NO2(1), NO_MSG|ST]
[RC2(1,16), NO_MSG, U0]
[RL3(1,16), RC]

19
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ISDN 6100 (IS 6100)
TR p# 109&7 0 1R

PASS
PASS
PASS
PASS
PASS
PASS
PASS

PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS

PASS
PASS
PASS
PASS
PASS
PASS
PASS

PASS
PASS
PASS
PASS
PASS
PASS
PASS

PASS
PASS
PASS
PASS
PASS
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#21101: *[T305(30S) TIMEOUT, RL] 5.3.3 PASS
Test Group: U19 TESTS

#11902: [IN2(0), NO_MSG|ST] 5 PASS

#11903: [RC2(0, 16), NO_MSG, U0] 5.3.4 PASS

#11904: [RL3(0, 16), NO_MSG, U0] 9.3.5 PASS

#11905: [SQ2, ST] 5.8.10 PASS

#21901: *[T308(4S) TIMEOUT, RL] 5.3.3 PASS
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1. Layer 1 Conformance Test System Summary Report

Test Suite: CHT-96-PA-L1 Verdicts Assigned
PASS: 5
FAIL: 0
INCONC: 0

Selected Cases: 5)

Test Identifier ITU-T REC. 1I.43l1 Verdict

Test Group: Electrical/Functional
characteristic test

1. Line code 4.1.3 PASS
2. Pulse shape 4.1.4.2 PASS
3. Interframe time fill 4.6.2 PASS
4. Bit rate 4.1.1 PASS
5. Jitter 4.5.1 PASS
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2. Layer 2 Conformance Test System Summary Report

Test Suite: CHT-96-PA-L2 Verdicts Assigned
PASS: 74
FAIL: 0
INCONC: 0

Selected Cases: 4

Test Identifier ITU-T REC. Q. 921 Verdict

Test Group: DS70_V State 7.0 Valid Frms
DS70_V0l Window Rotation 5.9.5 PASS

Test Group: DL40_V State 4.0 Valid Frms
DL40_V04 SABME/P=1 5.5.1.2  PASS
DL40_V06 SABME/P=0 5.5.1.2  PASS
DL40_V08 DISC/P=1 5.5.4 PASS
DL40_V09 DISC/P=0 5.5.4 PASS
DL40_V10 DM/F=1 5.5.4 PASS
DL40_V11 DM/F=0 5.5.4 PASS

Test Group: DL70_V State 7.0 Valid Frms

DL70_V03 I Frame in Queue : Window Open 5.6.1 PASS
DI70_V08 SABME/P=1 5.5.2 PASS
DL70_V10 SABME/P=0 5.5.2 PASS
DL70_V12 DISC/P=1 5.5.3.2  PASS
DL70_V13 DISC/P=0 5.5.3.2  PASS
DL70_V14 DM/F=0 5.7.1 PASS
DL70_V16 DM/F=1 5.8.7 PASS
DL70_V17 FRMR : Reject RR 5. 7.1 PASS
DL70_V20 RR/P=1 : N(R)=V(S) 5.6.5 PASS
DL70_V21 RR/P=0 : N(R)=V(S) 5.6.5 PASS
DL70_V23 RR/F=0 : N(R)=V(S) 5.6.5 PASS
DL70_V27 RR/P=1 : V(A)=N(R)<V(S) 5.6.5 PASS
DL70_V28 RR/P=0 : V(A)=N(R)<V(S) 5.6.5 PASS
DL70_V29 RR/F=0 : V(A)=N(R)<V(S) 5.6.5 PASS
DL70_V30 REJ/P=1 : N(R)=V(S) 5.6.4 PASS
DL70_V31 REJ/P=0 : N(R)=V(S) 5.6.4 PASS
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DL70_V32
DL70_V33
DL70_V34
DL70_V35
DL70_V36
DL70_V37
DL70_V39
DL70_V40
DL70_V41
DL70_V43
DL70_V44
DL70_V45
DL70_V46
DL70_V47
DL70_V52
DL70_V53
DL70_V54
DL70_V55
DL70_V56
DL70_V57

Test Group:
DL80_V03
DL80_V08
DL80_VI10
DL80_V12
DL80_V13
DL80_V14
DL80_V15
DL80_V17
DL80_V20
DL80_V21
DL80_V22
DL80_V23
DL80_V24
DL80_V25
DL80_V26
DL80_V27

REJ/F=0
REJ/P=1
REJ/P=0
REJ/F=0
RNR/P=1
RNR/P=0
RNR/F=0
RNR/P=1
RNR/P=0
RNR/F=0
[/P=1
[/P=0
[/P=1
[/P=0
[/P=1
[/P=0
[/P=1
[/P=0

: N(R)=V(S)
: V(A)<=N(R)V(S)
: V(A)<=N(R)V(S)
: V(A <=N(R)V(S)
: N(R)=V(S)
: N(R)=V(S)
: N(R)=V(S)
: V(A <=N(R)V(S)
: V(A <=N(R)V(S)
: V(A)<=N(R)V(S)

: NCS)=V(R), NR)=V(S)

: NCS)=V(R), NR)=V(S)

: NCSOSVR), NR)=V(S)

: NCSOSVR), NR)=V(S)

: NCS)=V(R), V()=NER)<V(S)
: NCS)=V(R), V()=NER)<V(S)
: NCS)OVR), VA)=NR)<V(S)
: NCS)OVR), VA)=NR)<V(S)

T200 Timeout, RC<N200
T203 Timeout

DL80_V

State 8.0 Valid Frms

[ Frame in Queue : Window Open
SABME/P=1
SABME/P=0

DISC/P=1
DISC/P=0

DM/F=1
DM/F=0

FRMR : Reject RR

RR/P=1
RR/P=0
RR/F=1
RR/F=0
REJ/P=1
REJ/P=0
REJ/F=1
REJ/F=0

V(A <=NR)<=VES)
V(A <=NR)<=VES)
V(A <=NR)<=VES)
V(A <=NR)<=VES)
: VAA)<ENR)EV(ES)
: VA<=NR)<=V(S)
: VA<=NR)<=V(S)
: VA<=NR)<=V(S)
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PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS
PASS

PASS
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PASS
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DL80_V28
DL80_V29
DL80_V30
DL80_V31
DL80_V32
DL80_V33
DL80_V34
DL80_V35
DL80_V40
DL80_V41
DL80_V42
DL80_V43
DL80_V44
DL80_V45
DL80_V46

RNR/P=1
RNR/P=0
RNR/F=1
RNR/F=0
[/P=1
[/P=0
[/P=1
[/P=0
[/P=1
[/P=0
[/P=1
[/P=0

: VCA)<=N(R)<=V(S)
: VAA)<=N(R)<=V(S)
: VAA)<=N(R)<=V(S)
: VAA)<=N(R)<=V(S)

: NCS)=V(R), N(R)=V(S)

: NCS)=V(R), NR)=V(S)

: NCOSVR), NR)=V(S)

: NCOSVR), NR)=V(S)

: NCS)=V(R), V()=NER)<V(S)
: NCS)=V(R), V()=NER)<V(S)
: NCS)OVR), VA)=NR)I<V(S)
: NCS)OVR), VA)=NR)I<V(S)

T200 Timeout, RC=N200
T200 Timeout, RC<N200, V(A)<V(S)
T200 Timeout, RC<N200, V(A)=V(S)
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3. Layer 3 Conformance Test System Summary Report

Test Suite:
PASS:

FAIL:
INCONC:

CHT-96-PA-L3

55

0
0

Selected Cases: 55

Test Identifier ITU-T REC
Test Group: Basic Interconnection Tests
1. Incoming Call (#21003) 5.3
2. Outgoing Call (#11105) 5.
Test Group: U0 TESTS
#10001: [RC2(1,16), NO_MSG] 5. 8.
#10002: [RL3(1,16), RC_81] 5. 8.
#10005: [SU3(BC, CD#, LLC, HLC), AL+CN+CP] 5. 2.
#10006: [SU2(SCI, BC, Cb#, LLC, HLC), AL+CN+CP] 5. 2.
#10007: [SU6(BC, LLC, HLC), AL+CN+CP] 5. 2.
#10008: [SU4(IBCAP, LLC, HLC), RC_88+NO_MSG] 5. 2.
#20002: [<IUT!SETUP>, SU] 5. 1.
Test Group: Ul TESTS
#10101: [CP2, NO_MSG, U3] 5. 1.
#10102: [RC2(1,16), NO_MSG, U0] 5. 8.
#10103: [RL3(1,16), RC] 5. 3.
$10106: [SQ2, ST] 5. 8.
Test Group: U3 TESTS
#10301: [AL2, NO_MSG, U4] 5. 1.
#10302: [CN2, ST(97,8,101)+SQ+CA+NO_MSG] 5. 1.
#10303: [DI2(1,16), RL] 5. 3.
#10304: [IN2(1), NO_MSG] 5. 2.
#10305: [PG2, NO_MSG] 5. 1.
#10306: [RC2(1,16), NO_MSG, U0] 5. 8.
#10307: [RL3(1,16), RC] 5. 3.
#10308: [SQ2, ST] 5. 8.
#20301: [<IUT!DISC>, DI_16] 5. 3.
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PASS
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PASS
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Test Group: U4 TESTS
#10401:
£#10402:
#10403:
#10404:
#10405:
#10406:
%#10407:
#20401:

Test Group:
#10801:
#10802:
#10803:
£10804:
#10805:
#10806:
£20801:

Test Group:
£#11001:
£#11002:
#11003:
£#11004:
£#11005:
#11006:
£21003:

Test Group:
#11101:
#11102:
#11103:
#11104:
#11105:

$21101

. %

CN2, CA+NO_MSG]
DI2(1,16), RL]

IN2(1), NO_MSG]

PG2, NO_MSG|ST]

RC2(1, 16), NO_MSG, UO0]
RL3(1, 16), RC]

SQ2, ST]

<IUT!DISC>, DI_16]

U8 TESTS

[CA2, NO_MSG, U10]
[DI2(0,16), RL]
[IN2(0), NO_MSG]
[RC2(0, 16), NO_MSG, UO]
[

[

[

— o o o

RL3(0, 16), RC]

SQ2, ST]

T313(4S) TIMEOUT, DI]
U10 TESTS

[DI2(0, 16), RL]
[IN2C0), NO_MSG]
[NO2(0), NO_MSG]
[RC2(0, 16), NO_MSG, UO]
[RL3(0, 16), RC]

[SQ2, ST]

[<IUT!DISC>, DI_16]

U1l TESTS

DI2(1,16), RL]

IN2(1), NO_MSG]
NO2(1), NO_MSGST]
RC2(1, 16), NO_MSG, UO0]
RL3(1,16), RC]
T305(30S) TIMEOUT, RL]

— o o o o

Test Group: U19 TESTS
£#11902:
#11903:
£#11904:
#11905:

£21901

. %

[IN2(0), NO_MSG|ST]
[RC2(0, 16), NO_MSG, UO]
[RL3(0, 16), NO_MSG, UO]
[SQ2, ST]

[T308(4S) TIMEOUT, RL]
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1. Layer 1 Conformance Test

Test Suite: CHT-98-PA-L1 Verdicts Assigned
PASS: 5
FAIL: 0
INCONC: 0

Selected Cases: 5)

Test Identifier ITU-T REC. 1.431
Verdict

Test Group: Electrical/Functional
characteristic test

1. Bit rate 5.3 PASS
2. Line code 5.1 PASS
3. Pulse shape (1) 5.1 PASS
4. Pulse shape (2) 5.1 PASS
5. Idle channel code 5.2.4.2 PASS

27



PP ISDN 6100 (IS 6100)
«(( e p g 109E 70 17

W% L

2. Layer 2 Conformance Test System Summary Report

Test Suite: CHT-96-PA-L2 Verdicts Assigned
PASS: 74
FAIL: 0
INCONC: 0

Selected Cases: 4

Test Identifier ITU-T REC. Q. 921 Verdict
Test Group: DS70_V State 7.0 Valid Frms
DS70_V01 Window Rotation 5.9.5 PASS

Test Group: DL40_V State 4.0 Valid Frms

DL40_V04 SABME/P=1 5.0.1.2  PASS
DL40_V06 SABME/P=0 5.0.1.2  PASS
DL40_V08 DISC/P=1 5.0.4 PASS
DL40_V09 DISC/P=0 5.5.4 PASS
DL40_V10 DM/F=I1 5.5.4 PASS
DL40_V11 DM/F=0 5.5.4 PASS

Test Group: DL70_V State 7.0 Valid Frms

DL70_V03 I Frame in Queue : Window Open 5.6.1 PASS
DI70_V08 SABME/P=1 5.5.2 PASS
DL70_V10 SABME/P=0 5.5.2 PASS
DL70_V12 DISC/P=1 5.5.3.2  PASS
DL70_V13 DISC/P=0 5.5.3.2  PASS
DL70_V14 DM/F=0 5. 7.1 PASS
DL70_V16 DM/F=1 5.8.7 PASS
DL70_V17 FRMR : Reject RR 5.7.1 PASS
DL70_V20 RR/P=1 : N(R)=V(S) 5.6.5 PASS
DL70_V21 RR/P=0 : N(R)=V(S) 5.6.5 PASS
DL70_V23 RR/F=0 : N(R)=V(S) 5.6.5 PASS
DL70_V27 RR/P=1 : V(A)=N(R)<V(S) 5.6.5 PASS
DL70_V28 RR/P=0 : V(A)=N(R)<V(S) 5.6.5 PASS
DL70_V29 RR/F=0 : V(A)=N(R)<V(S) 5.6.5 PASS
DL70_V30 REJ/P=1 : N(R)=V(S) 5.6.4 PASS
DL70_V31 REJ/P=0 : N(R)=V(S) 5.6.4 PASS
DL70_V32 REJ/F=0 : N(R)=V(S) 5.8. 7 PASS
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DL70_V33
DL70_V34
DL70_V35
DL70_V36
DL70_V37
DL70_V39
DL70_V40
DL70_V41
DL70_V43
DL70_V44
DL70_V45
DL70_V46
DL70_V4T
DL70_V52
DL70_V53
DL70_V54
DL70_V55
DL70_V56
DLT0_V57
Test Group:
DL80_V03
DL80_V08
DL80_VI10
DL80_V12
DL80_V13
DL80_V14
DL80_V15
DL80_V17
DL80_V20
DL80_V21
DL80_V22
DL80_V23
DL80_V24
DL80_V25
DL80_V26
DL80_V27
DL80_V28
DL80_V29

REJ/P=1 : V(A)<=N(R)<V(S)

REJ/P=0 : V(A)<=N(R)<V(S)

REJ/F=0 : V(A)<=N(R)<V(S)

RNR/P=1 : N(R)=V(S)

RNR/P=0 : N(R)=V(S)

RNR/F=0 : N(R)=V(S)

RNR/P=1 : V(A)<=N(R)<V(S)

RNR/P=0 : V(A)<=N(R)<V(S)

RNR/F=0 : V(A)<=N(R)<V(S)

[/P=1 : N(S)=V(R), N(R)=V(S)
[/P=0 : N(S)=V(R), N(R)=V(S)
[/P=1 : N(S)V(R), N(R)=V(S)
[/P=0 : N(S)<V(R), N(R)=V(S)
[/P=1 : N(S)=V(R), V(A)=NR)V(S)
[/P=0 : N(S)=V(R), V(A)=NR)V(S)
[/P=1 : NCS)OV(R), V(A)=NR)V(S)
[/P=0 : NCS)OV(R), VA)=NR)V(S)
T200 Timeout, RC<N200

T203 Timeout

DL80_V State 8.0 Valid Frms

[ Frame in Queue : Window Open
SABME/P=1

SABME/P=0

DISC/P=1

DISC/P=0

DM/F=1

DM/F=0

FRMR : Reject RR

RR/P=1 : V(A)<=N(R)<=V(S)

RR/P=0 : V(A)<=N(R)<=V(S)

RR/F=1 : V(A)<=N(R)<=V(S)

RR/F=0 : V(A)<=N(R)<=V(S)

REJ/P=1 : V(A)<=N(R)<=V(S)
REJ/P=0 : V(A)<=N(R)<=V(S)
REJ/F=1 : V(A)<=N(R)<=V(S)
REJ/F=0 : V(A)<=N(R)<=V(S)
RNR/P=1 : V(A)<=N(R)<=V(S)
RNR/P=0 : V(A)<=N(R)<=V(S)
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DL80_V30
DL80_V31
DL80_V32
DL80_V33
DL80_V34
DL80_V35
DL80_V40
DL80_V41
DL80_V42
DL80_V43
DL80_V44
DL80_V45
DL80_V46

RNR/F=1 : V(A)<=N(R)<=V(S)
RNR/F=0 : V(A)<=N(R)<=V(S)

[/P=1
[/P=0
[/P=1
[/P=0
[/P=1
[/P=0
[/P=1
[/P=0

: NCS)=V(R), N(R)=V(S)

: N(S)=V(R), NR)=V(S)

: N(OOVR), NR)=V(S)

: N(OOVR), NR)=V(S)

: N(S)=V(R), V(A)=NR)<V(S)
: N(S)=V(R), V(A)=NR)<V(S)
: N(S)OV(R), V(A)=N(R)V(S)
: N(S)OV(R), V(A)=N(R)V(S)
T200 Timeout, RC=N200

T200 Timeout, RC<N200, V(A)<V(S)
T200 Timeout, RC<N200, V(A)=V(S)
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3. Layer 3 Conformance Test

Test Suite:
PASS:

FAIL:
INCONC:

CHT-96-PA-L3

55

0
0

Selected Cases: 55

Test Identifier ITU-T REC
Test Group: Basic Interconnection Tests
1. Incoming Call (#21003) 5.
2. Outgoing Call (#11105) 5.
Test Group: U0 TESTS
#10001: [RC2(1,16), NO_MSG] 5.
#10002: [RL3(1,16), RC_81] 5.
#10005: [SU3(BC, CD#, LLC, HLC), AL+CN+CP] 5.
#10006: [SU2(SCI, BC, Cb#, LLC, HLC), AL+CN+CP] 5.
#10007: [SU6(BC, LLC, HLC), AL+CN+CP] 5.
#10008: [SU4(IBCAP, LLC, HLC), RC_88+NO_MSG] 5.
#20002: [<IUT!SETUP>, SU] 5.
Test Group: Ul TESTS
#10101: [CP2, NO_MSG, U3] 5.
#10102: [RC2(1,16), NO_MSG, U0] 5.
#10103: [RL3(1,16), RC] 5.
$10106: [SQ2, ST] 5.
Test Group: U3 TESTS
#10301: [AL2, NO_MSG, U4] 5.
#10302: [CN2, ST(97,8,101)+SQ+CA+NO_MSG] 5.
#10303: [DI2(1,16), RL] 5.
#10304: [IN2(1), NO_MSG] 5.
#10305: [PG2, NO_MSG] 5.
#10306: [RC2(1,16), NO_MSG, UO0] 5.
#10307: [RL3(1,16), RC] 5.
#10308: [SQ2, ST] 5.
#20301: [<IUT!DISC>, DI_16] 5.
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Test Group: U4 TESTS
#10401:
£#10402:
#10403:
#10404:
#10405:
#10406:
%#10407:
#20401:

Test Group:

£10801

#10802:
#10803:
£10804:
#10805:
#10806:
£20801:

Test Group:
£#11001:
£#11002:
#11003:
£#11004:
£#11005:
#11006:
£21003:

Test Group:
#11101:
#11102:
#11103:
#11104:
#11105:

$21101

. %

CN2, CA+NO_MSG]
DI2(1,16), RL]

IN2(1), NO_MSG]

PG2, NO_MSG|ST]

RC2(1, 16), NO_MSG, UO0]
RL3(1, 16), RC]

SQ2, ST]

<IUT!DISC>, DI_16]

U8 TESTS

[CA2, NO_MSG, U10]
[DI2(0, 16), RL]
[IN2(0), NO_MSG]
[RC2(0, 16), NO_MSG, UO]
[RL3(0, 16), RC]
[
[

— o o o

SQ2, ST]

T313(4S) TIMEOUT, DI]
U10 TESTS

[DI2(0, 16), RL]
[IN2C0), NO_MSG]
[NO2(0), NO_MSG]
[RC2(0, 16), NO_MSG, UO]
[RL3(0, 16), RC]

[SQ2, ST]

[<IUT!DISC>, DI_16]

U1l TESTS

DI2(1,16), RL]

IN2(1), NO_MSG]
NO2(1), NO_MSGST]
RC2(1, 16), NO_MSG, UO0]
RL3(1,16), RC]
T305(30S) TIMEOUT, RL]

— o o o o

Test Group: U19 TESTS
£#11902:
#11903:
£#11904:
#11905:

£21901

. %

[IN2(0), NO_MSG|ST]
[RC2(0, 16), NO_MSG, UO]
[RL3(0, 16), NO_MSG, UO]
[SQ2, ST]

[T308(4S) TIMEOUT, RL]
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PASS
PASS
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